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12��� �
��
! ��������	�
� �������# ��
$�� �	���
��# ����� '���!
��	�# ���
��� ����
�		��
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����� ������������� 
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�����
�����
 � ������
 �����
� ����
�
����� n ������� �� ���
�!" � � ����#��$�� ��%

��$�������


H =
1

2

n∑
i=1

p2i +
∑

i≤i<j≤n

V (xi − xj), &�'


� V (t) ( �����)��� �������* ����
�
�* ������� � +���,� �� # ��
��# 
�� ����
 #
��$�� ������� � �����)����
 ����
�
�* V (t) = a/t2 
����
�� - �.� /01" � �! ��%
 ����" 2� ���� � ������������ 3��
�
 4� ����
����" 5� 6�������
 �� ��� 7����
/8%�91 
����� ������������$ �����
� n ����
�
����� ������� � �����)����
 # �����%

� ℘(:#� )�* +�!��,������� 3����$��! �����
 ���,�� ���������� �� *���! ��;��� �
 �������
� �����
�
� ������ 6�<� =�
 #! � />%�1� +��� � ��
����� �� �� �����

.#�� �.;� ��
 �������� 
����
���$ 7�?� 	�$,���)$ ��� �� @�A� =�����
��� /�%
9" ��%�81� 3�����! ����� � 
����
����� ���.��
� ������������� 
�:��
������ ��%
���
 ����
�
����� ������� ������ 7� ?
���" =� ��� 7��.� �" +�<� <����
)�� /�"
�>1� B���� ������
���$�� �����
� �� ���
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C��
 ������D &�����
������' ���)�� � ����#��$�� ��
��$�������


H =
1

2

n∑
i=1

p2i +

n∑
i=1

V (xi − xi+1), xn+1 = x1 &E'

� C�����������D &�������
������' ( ��
��$�������


H =
1

2

n∑
i=1

p2i +

n−1∑
i=1

V (xi − xi+1). &9'

� )�� ����
 �� �����)��� V �� ����
� �������$�� �����
�
�	�	 -.��/012�33� 4�5�6�	 	������
� ����#2����
� 2�
� 
����
�#����� ���%

��
 n ����
�
����� ������� �� ���
�! � *��� ����� ������������$ �� F�#�����
"
��.�� ���#����� ������� ��.��# ���,�� ���������� {Fk, k = 1, n}" F1 = H " ������%

���$��� �� �
�#�$��
� � :#� )�����$�� ���������� 
�� ��.���

G�������
� ���.��
# ������������� �� F�#�����
 ��
��$������* �����
� ����%

�
�* �����$�� � �;��� ��� ���� 
�� �� ���
�! � ��
��$�������
 &�'" 
� n ∈ {4, 5}"
xi, pi, i = 1, n ( ��
����
��  ���
����� �� �
�#�$�� ������� &��� ���� 
��'" :#� %
)�� V �#� � ��
��� .#
�
� �������� '.��37��0.��

7� ������
��
� ���,� ���������" 2� ������
���$�� �� �
�#�$��
�" ��
# � ��%
���$��
# ����
 # ���,�! �������� 
���� �������� # �����
�

F = F2N + F2N−2 + · · ·+ F0, &>'


� Fr =
∑

i1+···+ik=r

Ei1,i2,...,ik(x)pi11 . . . pikk ( �
����
��! ������
 ����
 # r �� �
�#�$%

��
� �  ��:�)�����
� Ei1,i2,...,ik(x)" � � � C(1)%���
 �
� :#� )��
�  ���
�����

- 2� k = 2" �� Fr =
r∑

i=0

Er−i,i(x)pr−i
1 pi2� ��� ����
 # k = 2" 2N = 4" r = 4

���������
�
� Ai = E4−i,i, i = 0, 4� - 2� F (x, p) ( ���,�! �������� ��
��$������*
�����
� � ��
��$�������
 &�'" �� .#
�
� ��������" 2� �����)��� V 5.'/89�: ���,�!
�������� F �

G�����
���
�
� ��
��� ��,� �����)���� V (t)" 2� ��
����$����$ �� � #
����
�� H#�$ � ���.����� ��� �� 
�� �����)���# V (t) &����� �.� ������� ���.����

��� �'�
E� V (t) ( ������
�	�	 ;�5/97�� 4�5�6 6.�&�<.� � '=��& 6�8�&3.9 3� '����> �4 '.'��3.1 24�:�

�.5�:1 5. 8&8���& 4 � 8�/'�3��& 2�0<3.8��	 H���! �� ���
�! ���
�2��� ������
������ �" 2� �����,����� ��
������� �������� ����� #  ���
����

��−x2 −x1 x1 x2

+�.���,� ����� ��� #
��� xi(0)" ẋi(0)" i = 1, 4" # ��
�������
# �����
�" �
��%
��
� 
�� �����)�* � ���� {

x3(t) = −x2(t),
x4(t) = −x1(t).
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+�����
� ��
���������� �����)�* �����
� �������� ����� #  ���
���� ��
��$������
&�' 
��� .#�� ���
���! 
� �����
#

H∗ = p21 + p22 + 2V (x2 − x1) + V (2x1) + 2V (x1 + x2) + V (2x2),

� �! ��#��� ������ 
� �����
# H∗ = 2H̃ " 
�

H̃ =
1

2
(p21 + p22) + V (x2 − x1) +

1

2
V (2x1) + V (x1 + x2) +

1

2
V (2x2).

H�
��� H̃ 
�� ��#������ ���������
�
� ����# ����� H

H = T +W, &�'


�  �������� ������� T = 1
2 (p

2
1 + p22)" �

W = V (x1 + x2) + V (x2 − x1) +
1

2
V (2x1) +

1

2
V (2x2). &0'

7� ������� �����
 H � W # ����
 # ��
# �����* �����
� �����$�� ������� ��
���
�! � �������� ����
�
���� 3�#����
�" 2� ����
���! ��2� �������
 ��
# )�*
����������! � 
� ����
 # n = 5� 6����
�" ����! �� ���
�! ���
�2��� �;��$ ������� "
2� �����,����� ��
������� �������� ����� #  ���
�����

��−x2 −x1 x1 x2I

+�.���,� ����� ��� #
��� xi(0), ẋi(0), i = 1, 5 # ��
����
��
# �����
�" ������%

� ��
���������� �����)�* �����
� �������� ����� #  ���
����" �
����
�⎧⎨

⎩
x3(t) = 0,
x4(t) = −x2(t),
x5(t) = −x1(t).

?��������� 
� &0' �
����
�

H = T +W,


�  �������� ������� T = 1
2 (p

2
1 + p22)" �

W = V (x1 + x2) + V (x2 − x1) + V (x1) +
1

2
V (2x1) + V (x2) +

1

2
V (2x2). &�'

H�
��� ��
��$������� 
�� ����
 # ��
# �����* �����
� �����$�� � �;��� ������� 
�� ���
�! �����#����
�
� # �����
� &�'" 
� 
�� ����
 # �����$�� ������� �����%
)���$�� ������� W 
�� �����
 &0'" � 
�� ����
 # �;��� ������� ( �����
 &�'�

�� 	
���
�� ����� ���

��� � ����
 ����
���� =������
� �����X 
�����#
:#� )�! f(x, p) : R2N �→ R" � � �������$ ��
  ���
���� �� �
�#�$����

H���
��
�" 2�  �������� ������������ ( )� ��
��� #�����$�����  ���
���� ��
#�����$����� �
�#�$���  �������* 
��������* �����
� �� ��,�" ��� � �! �.�������$��
�����
 �������� ������$ ��
��$������* 
����� � ( ������$ J�
��$����

ẋi =
∂H

∂pi
, ṗi = −∂H

∂xi
, i = 1, n. &8'



(() ������ ��	
��
� ������ 	��

��������� �� ?'����.� S : R2N �→ R
2N @ �9&> .'&8/: 9�3.3�63/ 4���3/ /4�A�0<3��

3&� 9..�5&3�� �� /4�A�0<3�3&� ��'/0<8�2 90�8&63.B ����3�63.B 8&8���& 3� �3C�@
'�& �9�> 4D���A�:�<8� 2&A0�5 E/397�B F���0<�.3� HG H(S(x, p)) ≡ H(x, p)@ 3�4&2��
�&���. ��
������	

��������� �� H/5��. A.2.�&�&@ I. E/397�� f(x, p) ∈ X ��
����$��� 8&�����1
S : R2N �→ R

2N J�D. K@ I. E/397�� f ����
�� 8&�����:1 SL@ �9I.
f(S(x, p)) ≡ f(x, p)	

�	�	 ?'&8 8&�����>	 	��,�
� ��
����*" � �
� ����
���$ ��
��$������� &�'" &0'
� &�'" &�'�

K������ ��
����� I : ∀f ∈ X If = f �
6�
����� S0 : S0(x1, x2, p1, p2) ≡ (x2, x1, p2, p1)�
6�
����� S : S(x1, x2, p1, p2) ≡ (−x2, x1,−p2, p1)�
6�
����� S1 : S1(x1, x2, p1, p2) ≡ (−x1, x2,−p1, p2)�
6�
����� S2 : S2(x1, x2, p1, p2) ≡ (x1,−x2, p1,−p2)�
6�
����� S12 = S1S2 : S12(x1, x2, p1, p2) ≡ (−x1,−x2,−p1,−p2)�
6�
����� S012 = S0S12L S012(x1, x2, p1, p2) ≡ (−x2,−x1,−p2,−p1)�
M�
����* S0" S1" S2" S12 � S012 ( 
�#���� ����
 #" � ��
����� S ( ����������

����
 #L S2
0 = S2

1 = S2
2 = S2

12 = S2
012 = S4 = I�

S2 : S2(x1, x2, p1, p2) = (−x1,−x2,−p1,−p2); S2 = S12�
S3 : S3(x1, x2, p1, p2) = (x2,−x1, p2,−p1) = S−1�
3�#����
�" 2� S1S0 = S0S2 = S � S2S0 = S0S1 = S−1� H�� .#
� )� ���%

�� ��#�� ��
����! {I, S1, S0} ∼= D8� +���,�
� #�� ���
���� )��* ��#�� ��
����!L
{I, S1, S0} = (I, S0, S1, S2, S, S12, S

−1 � S012)� 7� ����
��� ��
�
# 
��
���$�# ��#�#
D8" ��� ����������� � �* ������� � /��1�

=� ���
� �� �L � 2� �������� S ( ��
����� 
�#���� ����
 # 
�� ��
��$�������
H(x, p) &��.�� S2 = I'" �� ���#� ���,�! �������� G(x, p)" 2� ��
����$��� ��
����� S"
��.�� 
�� � ��� GS(x, p) ≡ G(x, p)� 6����
�" ����! 
�� ��
��$������� H(x, p) ���#�

�� �! ���,�! �������� F (x, p) �� �!" 2� SF �= F � G�������
� 
�� ���,� ���������{

G1 = F + FS,
G2 = (F − FS)2.

+��� �.�
�� ��
����$����$ ��
����� S{
G1S = G1 : G1S = FS + FS2 = FS + FI = F + FS = G1;
G2S = G2 : G2S = (F − FS)2S = ((F − FS)S)2 = (FS − F )2 = (F − FS)2 = G2.

N��� . �
�� � ��� .#
� ���������$��
 &:#� )�����$�� ���������
 � ��
��$�������

H'� 	���" 
���
��� �� # ��
#�

���� �� ����> .'����.� S ) 8&������ 5�/A.A. '.��59/ 50� A���0<�.3��3� H(x, p)@
�.D�. S2 = I	 �.5� �83/: '��C&> �3��A��0 G(x, p)@ I. 4�5.2.0<3�: 8&�����1 S
JGS(x, p) ≡ G(x, p)L	

���� �������
�
�" 2� ���,�! �������� ��
����$��� #�� �� ��
����* 
�#���� ��%
��
 #" � � ��
����$��� ��
����
��! ��
��$������H � ���
 ����" ��
��$������� &�'" &0'
� &�'" &�' ����
���$ ��
������ ���������� ����
 # S" � � ��������$�� ����� 
�� ��%

����* 
�#���� ����
 # S = S1S0� 	����
�� �� �L � 2� ���,�! �������� ��
����$���

�� ��
����*" �� ��� ��
����$��� � *���  �
����)��
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fS1(x, p) ≡ f(x, p) ∧ fS2(x, p) ≡ f(x, p) ⇒ fS1S2(x, p) ≡ f(x, p)�
K�
# ��
��� .#
�
� �������" 2� ���,�! �������� ��
����$��� �� �� #�� ��
��%

��* ��2��� ����
 #" 2� 
��#�$ .#�� ��
��� �  �
����)�* ��
����! 
�#���� ����
 #�
�	�	 M3.K&3� 5.'/8�&�&� '����2.��3<	

���� �� ����> 5��9� A���0<�.3.2� 8&8���� 24�:�.5�16&� 6�8�&3.9 3� '����> 4
A���0<�.3��3.� JNL ��: '��C&> �3��A��0 2&A0�5/ JOL@ �.5� A���0<�.3.2� 8&8����
24�:�.5�16&� 6�8�&3.9 3� '����> 4 A���0<�.3��3.� H = T + αW @ 5� α ) 8��0&>
�3.K3&9@ ��: '��C&> �3��A��0 2&A0�5/ F2N +αF2N−2+ · · ·+αN−kF2k+ · · ·+αNF0	

	����
��" 2� �����
� &�' 
�� ���������$��! ������
���$��! �� �
�#�$��
�
���,�! �������� &>' �
������� � �����
��

H = T + αW. &�'

6����
�" � 2� &>' ( ���,�! �������� �����
� � ��
��$�������
 &�'" � F2k ( !���
�
����
�� 2k ������� �� �
�#�$��
�  �
�������" �� ����� F2N + αF2N−2 + · · ·+
+αN−kF2k + · · ·+ αNF0 � ���,�
 ���������
 
�� �����
� � ��
��$�������
 &�'�

��������� �� ���#���
�
� ������������
�  ���
���� D/5��. 3�4&2��& 9.�D��
3�7�B '����2.��3< 52.� ��9&� �&'�2G

�L (x, px) �→ (y, py)G y = Ax@ px = AT py ) �.4C&��33� �.69.2.A. '����2.��33�
9.3E�A/��7�>3&� 4��33&� 5. 9�3.3�63.A.P

�L (x, p) �→ (x, 1
βp)G β �= 0 ) / 7<.�/ ��4� A���0<�.3��3 H = T +W '����.5&�<

/ A���0<�.3��3 H = 1
β2T +W @ �9&> �92�2�0�3�3&> A���0<�.3��3/ H = T + β2W 	

��5'.2�53.@ 4� 0��.1 � �9I. F = F2N + F2N−2 + · · · + F0 ) '��C&> �3��A��0 50�
H = T +W @ �. F2N + β2F2N−2 + · · ·+ β2N−2kF2k + · · ·+ β2NF0 ) '��C&> �3��A��0
50� H = T + β2W � 4D���A�:�<8� /�.2� {F,H} = 0 4�25�9& '.0�3.���0<3.8�� 4�
��'/0<8��&	

3��
�� � ��
�� E ����,�  �
������� ���,��� ��������� �� 
��#���
�� ����%
������$  ���
���� �� �
�����$���

���� �� ����> 5��9� A���0<�.3.2� 8&8���� 24�:�.5�16&� 6�8�&3.9 3� '����> 4
A���0<�.3��3.� JNL ��: '��C&> �3��A��0 2&A0�5/ JOL	 �.5� 4� 5.'/8�&�&� '����
�2.��3< 9..�5&3�� 5&E���37��0<3.�E/397�.3�0<3� 8'�22�53.C�33� 2&A0�5/

[{F2N ,W}] = 0

4D���A�1�<8� 4 �.63�8�1 5. 8��0.A. �3.K3&9�	

	� ��$ � 
� ������
��
� �����
# � ������
���$��
 �� �
�#�$��
� ���,�
 ��%
�������
" �� ������� 
��#���
��� ������������ � �����
 ���,������
 �������
 ���������� ������������ 
�� )�� ��
��$������� �����
�

�� ��������� ��� 
�!����� �� �������� 
 !��"������ �
���

{F,H} =

2∑
i=1

(
∂F

∂xi

∂H

∂pi
− ∂F

∂pi

∂H

∂xi

)
= 0



((; ������ ��	
��
� ������ 	��

�����#��$�� 
�� ����
 # ������
���$���� �� �
�#�$��
� ���,��� ��������� 2N ���%
���� # �����
� �����
� ������$

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

0 = p1∂x1F2N + p2∂x2F2N ;
∂p1F2N ·W1 + ∂p2F2N ·W2 = p1∂x1F2N−2 + p2∂x2F2N−2;

���
∂p1F2 ·W1 + ∂p2F2 ·W2 = p1∂x1F0 + p2∂x2F0,

&�I'


� ∂xi =
∂

∂xi
" ∂pi =

∂
∂pi

" Wi = ∂xiW ( ����������" � � �� �������#����
�
� ��
����

=���� �������  ������ � ������$ &�I' � �
����
��
 ������
�
 �� �
�#�$��
��

K�
#  ��:�)����� ��� ��
����
��� 
���
�� p2N−i+1
1 pi2 
��������$ �#���

��������� #� ����> Rk(x1, x2, p1, p2) =
k∑

i=0

fi(x1, x2)p
k−i
1 pi2 ) 5��9&> .53.��53&>

8��'�3� k '.0�3.� 4� ��'/0<8��&	 �2�5��. 5&E���37��0<3&> .'����.�

[Rk] = Rk (x1, x2, ∂x2 ,−∂x1) =

k∑
i=0

∂k−i
x2

(−∂x1)
ifi(x1, x2). &��'

3�#����
�" 2� ��� 
�* �� ����# ������# ������$ &�I' ���������
 &��'" ����%

��
� �����
�� �#��� K�
� � ������$ &�I' �
����
�

Pi(V ) = 0, &�E'


� Pi(V ) = [∂p1F2N+2−2i ·W1 + ∂p2F2N+2−2i ·W2]�
- 2� ���#� :#� )�� V � ������
#������  ���# :#� )�!" � � �� ��
����$���

�������� &�E'" �� ������
��,���� &�E' ��������
�
� 3���&2��0<3&��

��������� $� ����&2��0<3� 8'�22�53.C�33� J��L D/5��. 3�4&2��& ��.�����& 5.�
5�2�33�	

H�
��� ��� )� �����
� ���,� �����
� 
�
������ � :#� )�����$�� ��������
�� ����
�
�! �����)��� ����
�
�* V �

	
����
� 
������! �����
 �����
� 
�
������� ��� )$��� �����,�
� ���,�
� ������$ &�I' �� �
��������" ����������� 
� �#��  ��:�)����� ��� ��
����
���


���
�� p2N−i+1
1 pi2 ⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨

⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

E2N,0
1 = 0,

E2N−1,1
1 + E2N,0

2 = 0,
���

E2N−i,i
1 + E2N−i+1,i−1

2 = 0,
���

E0,2N
2 = 0.

&�9'
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=����
���� ������#��� �������� &�9'" �
����
�

E2N,0 = ϕ2N ,
E2N−1,1 = ϕ2N−1 − x1ϕ

′
2N ,

E2N−2,2 = ϕ2N−2 − x1ϕ
′
2N−1 +

x2
1

2 ϕ′′
2N ,

���

E2N−i,i =
i∑

j=0

(−1)j
xj
1

j! ϕ
(j)
2N−(i−j),

���

E0,2N =
2N∑
j=0

(−1)j
xj
1

j! ϕ
(j)
j = ϕ0 − x1ϕ

′
1 + · · ·+ x2N

1

(2N)!ϕ
(2N)
2N ,


� ϕk = ϕk(x2)" k = 1, 2N ( 
�� � :#� )�*� 	� ��$ � E0,2N
2 = 0" �� ��� ϕk � ������
�
�

������� �� ��2� k�
- 2� F ��
����$��� ��
����� S1" �� 
�� ���� k ∈ 1, N ϕ2k−1 = 0

E2N,0 = ϕ2N ,
E2N−1,1 = −x1ϕ

′
2N ,

E2N−2,2 = ϕ2N−2 +
x2
1

2 ϕ′′
2N ,

���

E2N−i,i =
[i/2]∑
j=0

x2j
1

(2j)!ϕ
(2j)
2N−(i−2j),

���

E0,2N =
N∑
j=0

x2j
1

(2j)!ϕ
(2j)
2j = ϕ0 +

x2
1

2 ϕ′′
2 + · · ·+ x2N

1

(2N)!ϕ
(2N)
2N .

&�>'

7�����# ���� ������
#����� ���,�� ���������� ��
���
� �� ��� ��#�� ��  ����%
���
" � �! O�#��#��$�� �� �����
�  ��:�)������ ����,�* �
����
��* �� �
�#�$��
�
 �
�������

F2N =

2N∑
i=0

E2N−i,i(x1, x2)p
2N−i
1 pi2 &��'

���,��� ��������� &>'�

��������� %� H/5��. 3�4&2��& '��C&> �3��A��0 F �3��A��0.� � �&'/@ �9I. 28�
E2N−i,i : 9.38��3���&@ 5. �.A. K 8���C� .53.��53� 4� ��'/0<8��& 9.�'.3�3��
F2N 3� : 8��'�3�� '.0�3.�� p21+p22 J/�.2� 3�4�0�K3.8�� F 4 �3��A��0.� �3��A�BL	 

2&'�59/@ �9I. '�&3�>�3� .5&3 4 9.�E�7�:3��2 E2N−i,i 3� : 9.38��3�.1 � E1,2N−1�=0@
�. 3�4&2��&���. F �3��A��0.� �� �&'/	 Q9I. �.6 .5&3 4 9.�E�7�:3��2 E2N−i,i 3�
: 9.38��3�.1 � E1,2N−1 = 0@ �. 3�4&2��&���. F �3��A��0.� ��� �&'/	

#� &�
'
( ����)
� ���!�
��)� ��
���� * �
��� ��� �����
 � ��
��$%
�������
� &�'" &0' �� &�'" &�' ,# ��
� ��!������,�! ����;��� ( ���,�! ��������
���������� ����
 # 2N = 4� G�����
��
� ����
� ��������� < ���# &Ai = const'�



((= ������ ��	
��
� ������ 	��

+�����#��� ��#�# ��
����! ��
��$������� � ���,��� ��������� {I, S1, S0} ∼= D8

�� :#� )�����$�# �����������$ � H " 
���� �������" 2�

F4 =
p21p

2
2

2
. &�0'

O	�	 R�A�0<3&> 2&A0�5 ��.���& 5.5�2�33� 50� '��C.A. �3��A��0� 6��2���.A.
'.��59/	 �
��# &�I' �������� �#�� 
#� � =#������ {F,H}" ��������# �� �������
�
�
�#�$���" 
�� ����
 # 2N = 4 ����,�
� # �����
�⎧⎨

⎩
0 = p1∂x1F4 + p2∂x2F4;

∂p1F4 ·W1 + ∂p2F4 ·W2 = p1∂x1F2 + p2∂x2F2;
∂p1F2 ·W1 + ∂p2F2 ·W2 = p1∂x1F0 + p2∂x2F0,

&��'


� F2 = ap21 + bp1p2 + cp22�
3���,�
� �����)���$�# ������# W ��
��$������� � �����$��
# �����
�

W = V1(x) + V2(y) + V3(y − x) + V4(x+ y). &�8'

6����
�" 
� )� 
���
� ���.���" .� ��� n = 4⎧⎪⎪⎨
⎪⎪⎩

V1(x) = 1
2V (2x),

V2(y) = 1
2V (2y),

V3(y − x) = V (y − x),
V4(x+ y) = V (x + y),

&��'

� ��� n = 5 ⎧⎪⎪⎨
⎪⎪⎩

V1(x) = 1
2V (2x) + V (x),

V2(y) = 1
2V (2y) + V (y),

V3(y − x) = V (y − x),
V4(x+ y) = V (x + y).

&EI'

G���;���
� 
�#�� �������� �����
� &��'" ��
������,� ��
���$ F4 ��!������,�! ��%
����
 > ������� �� �
�#�$��
� &�0'� � ��
�#
 # ����
��
� #
��� ��  �
�������
������
� E ������� �� �
�#�$��
�

F2 = (V2(y) +
Ay2

2 )p21 + (V4(x+ y)− V3(y − x) −Axy)p1p2 + (V1(x) +
Ax2

2 )p22. &E�'

=�
���,� ���������
 &��' �� ����� �������� �����
� &��'" ����
��
�[
∂

∂p1
F2W1 +

∂

∂p2
F2W2

]
= 0. &EE'

=�
������,� ���!
���! �����
 
�� F2 &E�' � ����
��� �������� &EE'" �
����
�(
V ′
4 (x+ y)− V ′

3(y − x)− 2V ′
1(x)− 3Ax

) (
V ′
3 (y − x) + V ′

4(x + y) + V ′
2(y)

)
+

+
(
2V ′

2(y) + 3Ay − V ′
4(x+ y)− V ′

3(y − x)
) (

V ′
4(x+ y)− V ′

3(y − x) + V ′
1(x)

)
+

+
(
V4(x+ y)− V3(y − x)−Axy

) (
V ′′
2 (y)− V ′′

1 (x)
)
+

+2
(
V2(y) +

Ay2

2 − V1(x) − Ax2

2

) (
V ′′
4 (x+ y)− V ′′

3 (y − x)
)
= 0.

&E9'

6 ������� 
�:����)���$��%:#� )�����$�� �������� &E9' 
���� ��
��� # �����
�(
V4 − V3 −Axy

) (
V ′′
2 − V ′′

1

)
+ 2

(
V2 +

Ay2

2 − V1 − Ax2

2

) (
V ′′
4 − V ′′

3

)−
−3

(
Ax + V ′

1

) (
V ′
4 + V ′

3 + V ′
2

)
+ 3

(
Ay + V ′

2

) (
V ′
4 − V ′

3 + V ′
1

)
= 0.
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=��!���,� � 
�:����)���$��%:#� )�����$��
# �������� A = 0" �
����
�

(V4 − V3) (V
′′
2 − V ′′

1 )+2 (V2 − V1) ·(V ′′
4 − V ′′

3 )−3V ′
1 (V

′
4 + V ′

3 )+3V ′
2 (V

′
4 − V ′

3) = 0. &E>'

=������
�

ρ := (V4 − V3) (V
′′
2 − V ′′

1 )+2 (V2 − V1)·(V ′′
4 − V ′′

3 )−3V ′
1 (V

′
4 + V ′

3 )+3V ′
2 (V

′
4 − V ′

3) , &E�'

��
� &E>' ����,�
� # �����
�

ρ ≡ 0.

+� �������
� �� �! ���#�$����

+��
��� � &�
������'� S��T ����> Lf(x1, x2) = 0@ '�&6.�/G
�L 5&E���37��0<3&> .'����.� L = a∂2

x1
+ b∂x1∂x2 + c∂2

x2
@ a2 + b2 + c2 �= 0P

�L f ) A.0.�.�E3� E/397�� 2 R
2 ��9�@ I. lim

x2
1+x2

2→∞
f(x1, x2) = 0	

�.5� f(x1, x2) ≡ 0 2 R
2	

,�� ���� �� ����> Lf(x1, x2) = 0@ '�&6.�/G

�L 5&E���37��0<3&> .'����.� L =
n∑

i=0

ai∂
i
x2
(−∂x1)

n−i@
n∑

i=0

a2i �= 0P

�L f ) A.0.�.�E3� E/397�� 2 R
2 ��9�@ I. lim

x2
1+x2

2→∞
f(x1, x2) = 0	

�.5� f(x1, x2) ≡ 0 2 R
2	

U.2�5�33�	 	� ��$ �  ���� �
����
��! ������
 
���� ��
��� # �����
� 
�.#� #
������
�� � � E ������� ��
 ����
 
�!���� �����" �� �������� L 
���� ��
��� #
�����
�  �
����)�* 
�:����)���$��� ���������� � � E ����
 #� �

+� �������#��� ����
�� # V �� .��
�������" �� ���
�" 2� � &E9' A = 0�
6����
�" .��������
�$�� ������� �� 
���� ���� ������� # ��
#" 2�" ������#���%
,� �������� 
�:����)�������

L8 =
∂2

∂x2

∂2

∂y2

(
∂

∂y
− ∂

∂x

)2 (
∂

∂y
+

∂

∂x

)2

&E0'


� �����# # ����! ������� �������� &E9'" 
���� ����
��� �����" � � �
# �� .#
�
 �������� ������#����� A" � 2� ����
 !��� ����# ���������#���� � ������#�����

�����
 # � �� �����
� �
������" �� ����
��
� ����� &E>'�

O	�	 ��.���& 5.5�2�33� ��5/9.2�3&� 4�5�6 6.�&�<.� �� '=��& 6�8�&3.9	 G��%
���
��
� 
�� ����
 �L ����
� W (4p) ( ��
# ����# �����
# � �����$�� ������� ��
�������� ����
�
���" 2� ����#��$�� ��
��$�������
" ��
���
 �����
�� &�'" &0' ��
W (5p) ( ��
# ����# �����
# � �;��� ������� �� �������� ����
�
���" 2� ����#��$��
�����
�� &�'" &�'�

G�������
� ����
� W (4p) ( ��
# ����# �����
# � �����$�� ������� �� ��%
������ ����
�
���" 2� ����#��$�� �����
�� &�'" &0'" � ��
�����
� :#� )�* &��' #
�������� &E>'

2(V (x+ y)− V (y − x))(V ′′(2y)− V ′′(2x))+
+(V (2y)− V (2x))(V ′′(x+ y)− V ′′(y − x))−
−3V ′(2x)(V ′(x+ y) + V ′(y − x)) + 3V ′(2y)(V ′(x+ y)− V ′(y − x)) = 0.

&E�'



((? ������ ��	
��
� ������ 	��

+��
�
� ����������

ξ = 2(V (x + y)− V (y − x))(V ′′(2y)− V ′′(2x))+
+(V (2y)− V (2x))(V ′′(x+ y)− V ′′(y − x))−
−3V ′(2x)(V ′(x+ y) + V ′(y − x)) + 3V ′(2y)(V ′(x+ y)− V ′(y − x)),

&E8'

��
� &E�' ������,�
� �  �
�� ���
# �����
�

ξ = 0. &E�'

F�� � ���� �������" 2� ����� ξ  �����
�������! 2�
� ��
����! S0 �� S1� 	���"
�������� &E�' ��
����$��� ��#�# ��
����! {I, S1, S0} ∼= D8�

3�#����
�" 2� # ������ &E8' ��#��� ���.��� ��
��# x + y = v" y − x = u"
2y = u+ v" 2x = v − u� =������
�

η(u, v) = 2(V (v)− V (u))(V ′′(u+ v)− V ′′(v − u))+
+(V (u+ v)− V (v − u))(V ′′(v)− V ′′(u))−
−3V ′(v − u)(V ′(v) + V ′(u)) + 3V ′(u+ v)(V ′(v)− V ′(u)).

&9I'

+�
����
��" 
�:����)���$��%:#� )�����$�� �������� &E�' ���
��� 
� �����
#

η = 0, &9�'

� �! � 
����$ ��#���
 � .#
�
� �� �������#���� ��
����
- 2� ��
������� V1 = V2 = V3 = V4 = V " 
�⎧⎪⎪⎨

⎪⎪⎩
V1(x) = V (x),
V2(y) = V (y),

V3(y − x) = V (y − x),
V4(x+ y) = V (x + y),

� &E>'" �� ����
��
� �������� η(x, y) = 0" � ���������� 
� ξ(x, y) = 0�
��� ����
 # W (5p) ��
# �����* �����
� � �;��� ������� �� �������� ����
�%


���" 2� ����#��$�� �����
�� &�'" &�'" ��
�����
� :#� )�* &EI' # �������� &E>'

(V (x+ y)− V (y − x))(2V ′′(2y)− 2V ′′(2x) + V ′′(y)− V ′′(x))+
+(V (2y)− V (2x) + 2V (y)− 2V (x))(V ′′(x+ y)− V ′′(y − x))−
−3(V ′(2x) + V ′(x))(V ′(x+ y) + V ′(y − x))+
+3(V ′(2y) + V ′(y))(V ′(x+ y)− V ′(y − x)) = 0.

&9E'

F�� � ���� �������" 2� ����� # ����! ������� &9E' � �#
�� ξ(x, y) �� η(x, y)� 	� ��$ �
�������� &E�' �� &9�' � ����������" �� � 2� �����)��� V ��
����$��� �������� &E�'"
�� ��� ��
����$��� �� �� � �������� &9E'�

	���" ������$�� �� � �����
��

+��
��� �� Q9I. V ) �3��A�.23&> '.��37��0 2 4�5�6� W (4p)@ I. 5.'/89�: '��C&>
�3��A��0 O '.��59/ 4� ��'/0<8��& 4� 8��0&�& 9.�E�7�:3���&@ �. 7�> 8��&> V
�3��A�.23&> 2 4�5�6� W (5p) / �.�/ K 8�38�@ �.D�.@ V ) �3��A�.23&> '.��37��0
/ 4�5�6� W (5p)@ I. 5.'/89�: '��C&> �3��A��0 O '.��59/ 4� ��'/0<8��& 4� 8��0&�&
9.�E�7�:3���&	

+!�
�-���� �� ;�23�33� J�OL � JV�L : ��.�����& 5.5�2�33�	

U.2�5�33�	 5��������
�$�� ��
������ �� 
���� ���� �������" 2� �����)���
V (t) = 1

t4 �� ��
����$��� �������� &E>' � &9E'� �
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$� .��!����
 ���
�� ����!���� � 
���
� /�������� ��
� � ����� �
)$�
# ���
��� 
� �� ���
�" 2� ��
��$������ &�'" &0' &
�� ����
 # W (4p)' 
��� 
���

���,�! �������� �����
# F4 =
p2
1p

2
2

2 + F2 + F0 ��,� 
�� �����)���#" � �! 
�� � �#��
����� 
�#���� ����
 #�

���� #� ����> 8&8���� 4 A���0<�.3��3.� JNL@ J*L 5.'/89�: 5.5��9.2&> '.0�3.�
���0<3&> 4� ��'/0<8��& '��C&> �3��A��0	 �.5� '.��37��0 V (z) 3� �.K� ���& 2
.9.0� 3/0� �8�.�3.B .8.D0&2.B �.69&	

U.2�5�33�	 =���#���
�" 2� ���������� � ��
 F����� � � ��� �#�� �����)���# V (z)

�� ��� ������#  ��$ ���$ 
�
�� �� # �������! �������� K�
� 
���� �������" 2�

V (z) =

N∑
n=−∞

cnz
n +

∞∑
n=0

cnz
n = . . .+ cNxN + c0 + c1x+ . . . &99'

�����
# ����
  ��:�)������ ck, k < 0 � ��� �������  ��$ ���$ ���#�$�����
G��������� ρ(V ) � ��
 F�����" �� ��
����� &99' ����
��
�" 2�  ��:�)���� ���%

�������

2

(
V ′′(−2y)−

−1∑
n=−∞

cnn(n− 1) · 2n−2xn−2 −
∞∑
n=2

cnn(n− 1) · 2n−2xn−2

)
×

×
( ∞∑

m=0

V (m)(y)
m! xm −

∞∑
m=0

V (m)(y)
m! (−1)mxm

)
−3

( ∞∑
m=0

V (m+1)(y)
m! xm+

+
∞∑

m=0

V (m+1)(y)
m! (−1)mxm

)
·
( −1∑

n=−∞
cnn2

n−1xn−1 +
∞∑
n=1

cnn2
n−1xn−1

)
+

+

( ∞∑
m=0

V (m+2)(y)
m! xm −

∞∑
m=0

V (m+2)(y)
m! (−1)mxm

)
·
(
V (−2y)−

∞∑
n=−∞

cn2
nxn

)
+

+3

( ∞∑
m=0

V (m+1)(y)
m! xm −

∞∑
m=0

V (m+1)(y)
m! (−1)mxm

)
·V ′(−2y) = 0

&9>'

��� xk 
������� V ′(y)ck+1(2
k−1 + 2k) + {2&I� '.��53� 2�5 V }�

3� ��
�" ���������
� 
� �#��  ��:�)���� ���������� &9>' ��� xN−1

V ′(y)cN (2N−2 + 2N−1) +

∞∑
s=2

ΦsV
(s)(y) = 0, &9�'


� Φs ( 
�� �  ��������" 2� ��������$�� ����� ck" k < 0�
G�����#�,� � ��
 F����� ����� # ����! ������� �������� &9�' �� �������
� y

� ���������,�  ��:�)���� ��� yN 
� �#��" �
����
� c2NN(2N−2 + 2N−1) = 0" 2�
�#�������$ #
��� cN �= 0� �

���� $� ��.���� 5.5�2�33� J�OL 3� ��: 3���&2��0<3&� �.42=�49�2@ ��A/0��3&� 2
3/0�	

R�/2�K�33� �	 K������$��
� �������
�
� ������
� �� .��$,� E �������" .� 
��
�� �� �����)����� �����
� ������$ J�
��$���� &8' � ����!��� �����
�� 
�:����%
)���$��� ������$" � � ���
������� ���������� �  ��
���#����

U.2�5�33� 0��&	 H���! t = 0 ( ���#����� ��� � 
�� V (t)�



((* ������ ��	
��
� ������ 	��

G�����#�,� ����� &9I' � ��
 K�!���� �� �
����� v � ���������,� 
� �#��
 ��:�)���� ��� v1" ����
��
� ��������

(8V ′′(u)− 16b)V ′(u) + (−4a+ 4V (u))V ′′′(u) = 0,

���
 � 2(V ′′ − 2b)V ′ = −(V − a)V ′′′�
+� ����,� ��
��# f = V − a" �
����
� 2f ′(f ′′ − 2b) = −ff ′′′�
G��
������ �
����" �����
���� ����
��
�
2f ′

f = − f ′′′

f ′′−2b ; 2 ln f = − ln(f ′′ − 2b) + lnC; f2 = C(f ′′ − 2b)−1; f2(f ′′ − 2b) = C�

?�� f(0) = 0" ��
# C = 0� 	� ��$ � f �≡ 0" �� � �������� f2(f ′′ − 2b) = 0
�
����
� f ′′ − 2b = 0" � ����" f(t) = bt2 + C1t + C2" ��.�� f � ������
�
 �� ��2�
E%�� ��������

3�#����
�" 2� .��������
�� ��
������ � )$��� ����;�� # � �������� &E>' 
��
b = 0� 	���" ������#��� �������$ �����)���#" �  ���� ���#������ :#� )�! ����;��%
 �
� )$��� �������� � ��,�  ��������� �

+��
��� �� F���0<�.3��3 4 W (4p) ��: '��C&> �3��A��0 2&A0�5/ F4 =
p2
1p

2
2

2 +F2+F0

0&C� 50� '.��37��0/@ �9&> ��: 2 3/0� '.018 5�/A.A. '.��59/	

U.2�5�33�	 G�����#�,� ����� # ����! ������� �������� &E>' � ��
 �� �
����� x"
����
��
�

2(2(V ′(y)x+ V ′′′(y)x
3

6 + V (V )(y)x
5

5! ) +O(x7))(V ′′(2y)− ( α(α+1)
(2x)α+2 + . . . ))+

+(V (2y)− ( 1
(2x)α + . . . ))(2(V ′′′(y)x + V (V )(y)x

3

6 + V (V II)(y)x
5

5! ) +O(x7))−
−3(− α

(2x)α+1 + . . . )(2(V ′(y) + V ′′′(y)x
2

2 + V (V )(y)x
4

4! ) +O(x7))+

+3V ′(2y)(2V ′′(y)x +O(x3)) = 0.

���:�)���� ��� 
���
� 1
xα+1 
�������

−4V ′(y)
α(α + 1)

2α+2
+ 6V ′(y)

α

2α+1
= − α

2α
V ′(y)(α− 2) = 0.

	���" α = 2� 	���" ����
 #��� �����)�����" � � 
���$ �����" �������� &E>' ��
�%
���$��� ��,� �����)��� � ������
 
�#���� ����
 #� ���
 ����" �� ��
�
� > � �
�������� &E>' �� ��
����$����$ �� �����)����" 2� 
���$ ������# ���.���# ��� #"
��� ���������$�� ���#����� �����)����� K�
# ��
��$������ � W (4p) 
�� ���,�! ��%

������ �����
# F4 =
p2
1p

2
2

2 + F2 + F0 ��,� 
�� �����)���#" � �! 
�� � �#�� �����

�#���� ����
 #� �

+��
��� #� �&C� V = ℘+ const : �.42=�49.� ��.���& 5.5�2�33� η = 0	

U.2�5�33�	 3��
�� � �����
�� 9 �����
� 
�
������ &E�'" � ����" � ** � ����������!
����� &9�'" 
��� 
��� ����;�� � ��,� � ������
 
�#���� ����
 # � �#��� H���!
t = 0 ( ����� 
�#���� ����
 # 
�� V (t)� G�����#�,� ����� &E8' �� �������
� x �
���������,� 
� �#��  ��:�)���� ��� x1" ����
��
� ��������

1

30
V (V )(y)− 4V ′(y)(V ′′(2y)− 8b)− 2V ′′′(y)(V (2y)− a)− 6V ′(2y)V ′′(y) = 0. &90'



+,-./�%0,+ '%-.,1+234 546.-�47,48 92�27 ��� ((:

G�����#�,� ����� &9I' �� v" � ���������,� 
� �#��  ��:�)���� ��� v1" ����
��
�
��������

4

15
V (V )(u)− 4V ′′′(u)(V (u)− a)− 8V ′(u)(V ′′(u)− 2b) = 0. &9�'

G�����#�,� �����)��� V (t) � ��
 F����� � � ��� ��� � t = 0" ����
��
� ��.�������

V (t) = t−2 +

∞∑
i=0

ait
2i. &98'

=�
������,� ��.������� &98' �����)���# V # 
�:����)���$�� �������� &9�'" ����%

��
� �� #�����# :��
#�# 
��  ��:�)������ ���������� &98'

ai = 15

i−2∑
j=2

ai−1−jajj(4j(i− 2)− 2i+ 3− 2j2 + 3j)

(i − 2)(i− 3)(2i+ 3)(4(i− 2)2 + 10i− 11)
, i ≥ 4. &9�'

3��
�� � ����
���� �� #������� :��
#��� &9�' ��,� > ����
���� a0, a1, a2, a3 
�%
���$��" � ��,�� ��������$�� ����� ��� �
���������

- 2� ��
������� ��.������� &98' �����)���# V # 
�:����)���$�� �������� &9�'
�� 
�:����)���$��%:#� )�����$�� �������� &90'" �� ���������  ��:�)����� �
����%
��� ��������$ ������$ &9�' � &90'" �� �
����
� ��������

35

1243
a21a2 +

11

113
a2a3 =

350

11341
a21a2 +

92

1031
a2a3,

����;����,� � � �������� a3" ����
��
�" 2� a3 = 1
3a

2
1�

3���,����� 9 ��������� ����
���� a0, a1, a2" � �
� ,# ���! �����)��� V ��%
�������$�� �
���������

	� ��$ � ℘%:#� )�� +�!��,������ ��
����$��� �����
# 
�
������∣∣∣∣∣∣
℘(u) ℘′(u) 1
℘(v) ℘′(v) 1
℘(w) ℘′(w) 1

∣∣∣∣∣∣ = 0,


� u+ v + w = 0 /E�1" �

η = −
(

∂
∂x + ∂

∂y

) ∣∣∣∣∣∣
V (x) V ′(x) 1
V (y) V ′(y) 1

V (−x− y) V ′(−x− y) 1

∣∣∣∣∣∣−

−
(

∂
∂x − ∂

∂y

) ∣∣∣∣∣∣
V (x) V ′(x) 1

V (y − x) V ′(y − x) 1
V (−y) V ′(−y) 1

∣∣∣∣∣∣ ,
�� V = ℘ � ����;�� �
 η = 0�

?�� ℘%:#� )�� +�!��,������ �
�������� ���������$�� ��$�
� ����
����
�
a0 = 0, a1, a2 ���������� � ��
 F����� � � ��� �#�� /E�1" ��
# ,# ���! �����)��� V
� � ℘%:#� )��� +�!��,������ � �������� 
�  ��������� �

%� �
����� ��
'�)� ����)
� � ��!� ���)� ������� ** �
��� 3���,�
�
������
��,���� &�E' ��� i = 1

[∂p1F2N ·W1 + ∂p2F2N ·W2] = 0. &>I'



(;) ������ ��	
��
� ������ 	��

���� %� Q9I. F : �3��A��0.� �� �&'/@ �. ��23�33� JO�L ��: 2&A0�5

x2(p1(x1)U(x1))
(2N+1) + (x1 + x2)(p3(x1 − x2)U(x2 − x1))

(2N+1)+
+x1(p2(x2)U(x2))

(2N+1) + (x2 − x1)(p4(x1 + x2)U(x2 + x1))
(2N+1) = 0,

&>�'

5� pi(·), i = 1, 4 ) '.0�3.�&@ �9� 3� 28� 5.��2311�< 3/01	

U.2�5�33�	 G����,�
� �������� &>I'" ������#��� �����
 &��'[
2N−1∑
i=0

(2N − i)E2N−i,i(x1, x2)p
2N−i−1
1 pi2 ·W1+

+
2N∑
i=1

iE2N−i,i(x1, x2)p
2N−i
1 pi−1

2 ·W2

]
= 0,

���
 �
2N−1∑
i=0

∂2N−i−1
x2

(−∂x1)
i
(
(2N − i)E2N−i,i(x1, x2)W1+

+(i+ 1)E2N−i−1,i+1(x1, x2)W2

)
= 0.

&>E'

+�����#��� �����
 &�8' �����)���$��* ������� ��
��$������� W " ������
��,��%
�� &>E' 
���� �������� # �����
�

[Φ1]V
′
1 + [Φ2]V

′
2 + [Φ3]V

′
3 + [Φ4]V

′
4 = 0, &>9'


� [Φ1]" [Φ2]" [Φ3]" [Φ4] ( ����#��� ����!�� 
�:����)���$�� ��������� 2N %�� ����
 #

[Φ1]V
′
1 =

2N−1∑
i=0

∂2N−i−1
x2

(−∂x1)
i(2N − i)E2N−i,iV ′

1 "

[Φ2]V
′
2 =

2N−1∑
i=0

∂2N−i−1
x2

(−∂x1)
i(i + 1)E2N−i−1,i+1V ′

2 "

[Φ3]V
′
3 = [Φ2 − Φ1]V

′
3 =

2N−1∑
i=0

∂2N−i−1
x2

(−∂x1)
i
(
(i + 1)E2N−i−1,i+1 −

− (2N − i)E2N−i,i
)
V ′
3 "

[Φ4]V
′
4 = [Φ2 +Φ1]V

′
4 =

2N−1∑
i=0

∂2N−i−1
x2

(−∂x1)
i
(
(i + 1)E2N−i−1,i+1 +

+ (2N − i)E2N−i,i
)
V ′
4 �

P�. ��������� ������ [Φi]V
′
i " ������,�
�  ��:�)����� &�>' # �����
�

E0,2N = P2N (x1),
E1,2N−1 = −x2P

′
2N (x1),

E2,2N−2 = P2N−2(x1) +
x2
2

2 P ′′
2N (x1),

���

Ei,2N−i =
[i/2]∑
j=0

x2j
2

(2j)!P
(2j)
2N−(i−2j)(x1),

���

E2N,0 =
N∑
j=0

x2j
2

(2j)!P
(2j)
2j = P0 +

x2
2

2 P ′′
2 + · · ·+ x2N

2

(2N)!P
(2N)
2N .

=������
� ����� U 
����$�# �������# �����)���# ����
�
�* V1�
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K�
�" ������#��� �����
�#  �
.�������# ���������$
2N−1∑
i=j

(2N − i)Cj
i = Cj+2

2n+1"

����
#�
�

[Φ1]V
′
1 = x2

2N−1∑
i=0

(2N − i)
(
P

(2N−i)
2N V ′

)(i)

= x2(2NP
(2N)
2N V ′ +

+ (2N − 1)(P
(2N−1)
2N V ′)′ + · · ·+ 1 · (P ′

2NV ′)(2N−1)) =

= x2

2N−1∑
i=0

(2N − i)
i∑

j=0

Cj
i P

(2N−i+i−j)
2N V (j+1) =

= x2

2N−1∑
i=0

i∑
j=0

(2N−i)Cj
i P

(2N−i+i−j)
2N V (j+1) = x2

2N−1∑
j=0

P
(2N−j)
2N V (j+1)

2N−1∑
i=j

(2N−i)Cj
i =

= x2

2N−1∑
j=0

P
(2N−j)
2N V (j+1)Cj+2

2N+1 = [k = j + 2] = x2

2N+1∑
k=2

P
(2N+2−k)
2N U (k)Ck

2N+1 =

= x2

(
(P ′

2N (x1)U(x1))
(2N+1) − P

(2N+2)
2N U(x1)C

0
2N+1 − P

(2N+1)
2N U ′(x1)C

1
2N+1

)
=

= x2

(
(P ′

2N (x1)U(x1))
(2N+1) − P

(2N+2)
2N U(x1)− (2N + 1)P

(2N+1)
2N U ′(x1)

)
�

	� ��$ � P2N (x1) ( ������
 ��
 x1 ������� �� ��2� �� 2N " ��

P
(2N+1)
2N = P

(2N+2)
2N = 0 � [Φ1]V

′
1 = x2(P

′
2NU(x1))

(2N+1)�
=����������
� p1(x1) := P ′

2N (x1)� 3 #
�� �����
� ��������" 2� p1(x1) �= 0�
K�
�

[Φ1]V
′
1 = x2(p1(x1)U(x1))

(2N+1). &>>'

+� ��#��� ��
����
�� 
��#���
� ������������ �� " 2�. ���#
���� :#� )�! V2" V3

� V4 ������� ����� ���,��  ��:��#��)�!��� �
�����" �
����
� [Φi]V
′
i " i = 2, 4 #

�����
�" ����������
# 
� &>>'� 	���" &>9' 
�� �����
 &>�'� �

+��
��� $� Q9I. F : �3��A��0.� �� �&'/@ �. ��23�33� JO�L : 3���&2��0<3&�@
�.D�.@ ��.���.1 5.5�2�33�	

U.2�5�33�	 H��������$����$ )$��� ������
��,���� �������� � ����" 2� 
�� :#� )�*
U(x1) =

1
x1p1(x1)

�������� &>�' �� �����
�#��$��� �

+��
��� %� Q9I. 8&8���� 4 A���0<�.3��3.� JNL@ J*L 5.'/89�: 5.5��9.2&> �3���
A��0 �� �&'/@ �. '.��37��0 24�:�.5�B V : ��7�.3�0<3.1 E/397�:1	

U.2�5�33�	 3�����#�
� 
� �����# # ����! ������� �������� &>�' ��������
L = ∂x1

2∂x2(∂x1 + ∂x2)
2(∂x2 − ∂x1)

2� 	� ��$ �
∂x1((p(x2)U(x2))

(2N+1)) = ∂x2((p(x1)U(x1))
(2N+1)) =

= (∂x1 + ∂x2)((p(x1 − x2)U(x2 − x1))
(2N+1)) =

= (∂x2 − ∂x1)((p(x1 + x2)U(x2 + x1))
(2N+1)) = 0"

�� ∂x1
2(∂x1 + ∂x2)

2(∂x2 − ∂x1)
2((p(x1)U(x1))

(2N+1)) = 0"
���
 � �
����
�

L[Φ1]V
′
1 = = L(x2(P

′
2NU(x1))

(2N+1)) = (P ′
2NU(x1))

(2N+7) = 0,

�� P ′
2NU(x1) = Q2N+6� 	� ��$ � p � ������
�
 �� .��$,�" ��� 2N − 1 �������" ��


����$��! ����;��� )$��� �������� 
�� �����
 V = U ′ = ∂
∂x1

Q2N+6(x1)
p(x1)

" 
� Q2N+6 (


�� �! ������
 2N + 6 ������� ��
 x1� �



(;; ������ ��	
��
� ������ 	��

0� �
����� ��
'�)� ����)
� � ��!� ���)� ������� * �
��� � �����$��
#
����
 # #
��� ����
�� � �����)���# V �� .��
������� �� ��
��� �� .#
�
�� 3���#
��������
� 
�� ����
 �L ����
� W (4p) ( ��
# ����# �����
# � �����$�� ������� ��
�������� ����
�
���" 2� ����#��$�� �����
�� &�'" &0' � ����
� W (5p) ( ��
# ����#
�����
# � �;��� ������� �� �������� ����
�
���" 2� ����#��$�� �����
�� &�'" &�'�

� )$�
# ���
��� 
� .#
�
� 
����
�#���� ���,�! �������� # �����
� ������
�

����$���� ��������

+ �����$��
# ����
 # �
����
��! ������
 2N ������� �� �
�#�$��
� F2N 
��%
�� �������� # �����
�

F2N = GTN , &>�'


� G(p1, p2) = F2N (p̃1, p̃2) � 
� p̃1 = p1√
p2
1+p2

2

� p̃2 = p2√
p2
1+p2

2

�

���� 0� ����> A���0<�.3��3 H 2.0.5�: A�/'.1 8&�����> {I, S1, S0} ∼= D8	 �.5�
'.0�3.� G 2 4.D��K�33� JONL ��: 2&A0�5 G = g(p̃21p̃

2
2)@ 5� g ) 5��9&> '.0�3.�	

U.2�5�33�	 =��!
�
� p̃1 = p1√
p2
1+p2

2

= cosϕ � p̃2 = p2√
p2
1+p2

2

= sinϕ� K� � ��
��� .#
�

 ��� ����" .�
∣∣ p1√

p2
1+p2

2

∣∣ ≤ 1 �
∣∣ p2√

p2
1+p2

2

∣∣ ≤ 1" � �� �� p̃21 + p̃22 = 1�

=������
� f(ϕ) = G(cosϕ, sinϕ)� Q� �������
�������! ������
� <� ��
����! S1"
S2 �� S0 ��������" ��
����
��" 2� f(ϕ) = f(π−ϕ)" f(ϕ) = f(−ϕ) �� f(ϕ) = f(π2 −ϕ)�

	���" :#� )�� f � π
2 %�����
�����" ������" ��
# ���� ��� ��
���$�� � ��


4#�;� ��  ����#��
� ������ ������� ���#
���#

f(ϕ) = P1(cos 4ϕ) = P

(
1

4
sin2(2ϕ)

)
= P (sin2 ϕ cos2 ϕ) = P (p̃21p̃

2
2).

	���" G(p̃1, p̃2) = f(ϕ) = P (p̃21p̃
2
2)� �

	���" ����,� �
����
��  �
������� F2N ��
������������ ���,��� ���������

�� �����


F2N = G(p21 + p22, p
2
1p

2
2) = G(T, J), &>0'


� G ( ��
����
��! ������
 ��
 
��� �
�����" � J = p21p
2
2�

=������
� GJ = ∂
∂JG(T, J)�

��� ������
���$���� �� �
�#�$��
� ���,��� ��������� 2N ������� &>' !���
����,� �
����
��  �
������� ��.#
� �����
#

F2N = α0T
N + α2T

N−2J + α4T
N−4J2 + · · · .

3���,�
� ��
��$������H # �����$��
# �����
� &�8'" 
� ��� n = 4 :#� )�* Vi" i = 1, 4

���$ �����
 &��'" � ��� n = 5 ( &EI'� =�
���,� ���������
 &��' �� ����� ��������
�����
� &�I'" ����
��
�

[∂p1F2N−2 ·W1 + ∂p2F2N−2 ·W2] = 0. &>�'

=������
� Q ����� # ����! ������� ����
����� �������� &>�'

Q = [∂p1F2N−2 ·W1 + ∂p2F2N−2 ·W2] . &>8'

+��
��� 0� U&E���37��0<3.�E/397�.3�0<3� 8'�22�53.C�33� JO(L 3� '.��37��0
24�:�.5�B 50� '.0�3.���0<3.A. 4� ��'/0<8��& '��C.A. �3��A��0� 2N 8��'�3� 4�
8���C.1 .53.��53.1 9.�'.3�3�.1 F2N / 2&A0�5� JO*L ��: 2&A0�5 Lρ = 0@ 5�
L = [GJ ] ) .53.��53&> 5&E���37��0<3&> .'����.�@ ρ 4�5�3. E.��/0.1 J�NL	
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U.2�5�33�	 +�����#��� �����
 &�8' �����)���$��* ������� ��
��$�������W " .#
�
�
,# ��� F2N−2 # �����
�

F2N−2 = AV1(x) +BV2(y) + CV3(y − x) +DV4(x+ y), &>�'


� A" B" C" D ( ������
� 2N − 2 ������� �� �
�#�$��
��
5��������
�$�� ��
������ �� &�8' � &>�' � 
�#�� �������� �����
� &�I' ����%


��
�" 2�

A = 1
p1

∂F2N

∂p1
, B = 1

p2

∂F2N

∂p2
, C = 1

p2−p1
(∂F2N

∂p2
− ∂F2N

∂p1
), D = 1

p2+p1
(∂F2N

∂p2
+ ∂F2N

∂p1
). &�I'

=�
������,� �����
 &>0' 
�� F2N # &�I'" ����
��
�

A = 2(G1+G2p
2
2), B = 2(G1+G2p

2
1), C = 2(G1−G2p1p2), D = 2(G1+G2p1p2). &��'

=�
������,� ����
���! �����
 &>�'" &��' 
�� F2N−2 # �������� &>�'" �
����
�

[2(2(G11p1 + 2G12p1p
2
2 +G22p1p

4
2)V1(x) + 2(G11p1 +G12p1(p

2
1 + p22)+

+G22p
3
1p

2
2 +G2p1)V2(y) + (2G11p1 + 2G12p1p2(p2 − p1)− 2G22p

2
1p

3
2−

−G2p2)V3(y − x) + (2G11p1 + 2G12p1p2(p2 + p1) + 2G22p
2
1p

3
2+

+G2p2)V4(x+ y))(V ′
1 (x)− V ′

3 (y − x) + V ′
4(x + y)) + 2(2(G11p2+

+G12p2(p
2
1 + p22) +G22p

3
2p

2
1 +G2p2)V1(x) + 2(G11p2 + 2G12p2p

2
1+

+G22p2p
4
1)V2(y) + (2G11p2 − 2G12p1p2(p2 − p1)− 2G22p

2
2p

3
1−

−G2p1)V3(y − x) + (2G11p2 + 2G12p1p2(p2 + p1) + 2G22p
2
2p

3
1+

+G2p1)V4(x+ y))(V ′
2 (y) + V ′

3(y − x) + V ′
4 (x+ y))] = 0.

&�E'

=���� ����2���� �����# &�E' ����
��
�

Q = [P13V1V
′
3 + P14 · V1V

′
4 + P23 · V2V

′
3 + P24 · V2V

′
4+

+P31 · V3V
′
1 + P32 · V3V

′
2 + P41 · V4V

′
1 + P42 · V4V

′
2 ],

&�9'


�

P13 = 2p2(G11 +G2 +G12(p
2
1 + p22) +G22p

2
1p

2
2)− 2p1(G11 + 2G12p

2
2 +G22p

4
2);

P14 = 2p2(G11 +G2 +G12(p
2
1 + p22) +G22p

2
1p

2
2) + 2p1(G11 + 2G12p

2
2 +G22p

4
2);

P23 = 2p2(G11 + 2G12p
2
1 +G22p

4
1)− 2p1(G11 +G2 +G12(p

2
1 + p22) +G22p

2
1p

2
2);

P24 = 2p2(G11 + 2G12p
2
1 +G22p

4
1) + 2p1(G11 +G2 +G12(p

2
1 + p22) +G22p

2
1p

2
2);

P31 = (2G11p1 + 2G12p1p2(p2 − p1)− 2G22p
2
1p

3
2 −G2p2);

P32 = (2G11p2 − 2G12p1p2(p2 − p1)− 2G22p
2
2p

3
1 −G2p1);

P41 = (2G11p1 + 2G12p1p2(p2 + p1) + 2G22p
2
1p

3
2 +G2p2);

P42 = (2G11p2 + 2G12p1p2(p2 + p1) + 2G22p
2
2p

3
1 +G2p1).

&�>'

3������,� Q # �����
� G11Y11+G2Y2 +G12Y12 +G22Y22" .��������
�$�� ��
������%
 �� &�>' # &�9' ���� ��#�
��� � ��
#" 2� Y11 = Y12 = Y22 = 0" � Y2 = ρ� K����
# �

���
���� �
,�� ���� �� � /�.2�� ��.���& ( 4� 5.5��9.2.B /�.2& V (∞) = 0 .5��K&�. ��2�
3�33� ρ = 0@ �9� ��: 82.B� �.42=�49.� 6�8�&33� 2&'�59& ℘�E/397�B ��>:�C���88�@

�9� 4�5.2.0<3�1�< /�.2/ 3� D�4��K3.8�� V (t) ∈ { 1
t2 ,

c2

sh2(ct)}	
(	�	 ��.���& 5.5�2�33� 50� '��C.A. �3��A��0� � �&'/ �� B�3� �.42=�49&	 =�%

����,�
� 
�#�� �������� �����
� &�I' # �����
�

p1∂x1F2N−2 + p2∂x2F2N−2 = ∂p1F2N · V ′
1 + ∂p2F2N · V ′

2+
+(∂p1 + ∂p2)F2N · V ′

3 + (∂p2 − ∂p1)F2N · V ′
4 .

&��'
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F�� � ����������" 2� F2N−2 # �����
� &>�'" &�I'" ��
����$��� �������� &��'� K�
# �
�����$��
# ����
 # ����;��� 
�#���� �������� �����
� &�I' 
�� �����


F2N−2 = AV1(x) +BV2(y) + CV3(y − x) +DV4(x+ y) + ω, &�0'


� A" B" C" D ���������$�� �����
�� &�I'" � ω ( 
�� �! ������
 2N − 2 ������� ��
�
�#�$��
�" �� �! 2� [ω] = 0�

=�
������,� &�0' # 
�#�� �������� �����
� &�I'" �
����
�

[GJ (p1, p2)ρ(V ) + ϕ] = 0, &��'


� ϕ = [∂p1ω ·W1 + ∂p2ω ·W2]�
	� ��$ � � #
���� ��
� 0 
�� 
����$���� F2N �������� &E0' ���������� ���#

������# �������� >� � �������! �#�$" ��" ��
������,� ω ��
���$ F2N " �
����
�
L8ϕ = 0" ��
#

[M ]ρ(V ) = 0,


� M(p1, p2) = L8GJ (p1, p2)�
	���" 
���
��� �����
#�

+��
��� 1� Q9I. 8&8���� 4 A���0<�.3��3.� JNL@ J*L 5.'/89�: 5.5��9.2&> �3���
A��0 � �&'/@ �. 8'�22�53.C�33� J��L : 3���&2��0<3� '�& i = 2@ � '.��37��0 V
4�5.2.0<3�: 5&E���37��0<3.�E/397�.3�0<3� ��23�33� [M ]ρ(V ) = 0	

,�� ���� �� R� 5.5��9.2.B /�.2& V (∞) = 0 .��&��:�. ρ(V ) = 0	

U.2�5�33�	 =�����$����$ �����
 # 9 �������� � �����
 # �� �

+�����#���" 2� �����
� 
�
������ ρ(V ) = 0 � ������
#����
#  ���� �����)��%
��� 
�� ����;�� � ��,� ℘+ const" ��
# ���.��
� ����# ����������� �����)����� 
��
���,��� ��������� ���,��� ���# �������� ����;������

+� �������#��� �����
# E" �
����
�" 2� ��
������� ��
��� �;��� ������� 

�� �� ��
� ����;�� �" 2� � ��
������� ��
��� �����$�� ������� �

1� �
���!��� � ���)� �������#�� �����
� 
�
������ 
�� ��������� 
����$����
������� � ��
�������! ��
��� �����$�� � �;��� ������� � � R0" � ����
��� �����%
)���� ����
�
�* � ����;�� � )�� �����
 
�
������ # ��
����
��� :#� )�����$���
 ������

(� 3
�4
	����� 5�6� /������������ ������ 	� ������
������� �
���
�	��
� 	���
��
�
�
��	A � �
	A� 
�$�	�� �B�B"�		�� ������ C������
� ��� ������������� ������
D 3
�4
	����� 5�6�� 7���
���� 6�5� DD E�	�� �	���� � ��� �
��� F (:@?� F -� ()# G<�
F 5� *?!*@�

;� 3
�4
	����� 5�6� C
�	��
A� ������A# �
���		A� � ��������� ��
	�� � 
������	A�
����� ���
���
�
 3������ D 3
�4
	����� 5�6�� 7���
���� 6�5� DD E�	�� �	���� �
��� �
��� F (:@*� F H� (;# G;� F 5� >@!?>�

<� 3
�4
	����� 5�6� I
	A� 
�$�	�� 	�����
A� 
���	� �	���
�
���A� ��������	�
A�
������ D 3
�4
	����� 5�6�� 7���
���� 6�5� DD E�	�� �	���� � ��� �
��� F (:@@� F H�
((# G(� F 5� @>!@?�

=� 7�8����� 9�:� '���	������	A� �	���
��A ��������	�
A� ������ D 7�8����� 9�:��
9��;�	 6�5� DD ���� 2, 555�� F (:@*� F H� ;<:# G(� F 5� >)!><�
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>� 7�8����� 9��� '�
	� �	���
�
	���� �
�	��
� ������� n ��� 	� �
���� D 7�8����� 9���
DD 6��� ������ � &���!���� ����� F (:*<� F G(@� F 5� :*!()(�

?� <��=� 0� 3����� �� ��	����� D <��=� 0� F 6�J 3�# (:<?�
@� >% �- ?� KLMNOPQPOR �SQPTUVWOP XRXQPMX# YZ[O�\PVS ]�P VOTPWUVX VS\ [ZU^PX D >% �- ?��

(�& ?#�-"�,� @� DD _\^� `VQa� F (:*)� F bLO�<*� F c� ;?@!<(@�
*� A� #B�-# C� dLOZQ�LS Le QaP LSP!\�MPSX�LSVO N!WL\R NULWOPM f�Qa gZV\UVQ�[ VS\DLU

�S^PUXPOR gZV\UVQ�[ NV�U NLQPSQ�VOX D A� #B�-# C� DD hLZU� `VQa� caRX� F (:@(� F bLO� (;� F
c� =(:!=<?�

:� A� #B�-# C� YiV[QOR XLO^VWOP LSP!\�MPSX�LSVO MVSR WL\R NULWOPMX D A� #B�-# C� DD ]PQQPUX
VO jZL^L K�M� F (:@>� F bLO� (<� F c� =((!=(?�

()� A� #B�-# C� YiV[Q XLOZQ�LS Le LSP!\�MPSX�LSVO QaUPP!WL\R X[VQQPU�ST NULWOPM f�Qa QfL!WL\R
VS\DLU QaUPP WL\R �S^PUXP XgZVUP NLQPSQ�VO D A� #B�-# C�� ?�-D$�#-# A� DD hLZU� `VQa� caRX�
F (:@=� F bLO� (>� F c� (=;>!(=<)�

((� A� #B�-# C� YiV[Q XLOZQ�LS Le QaP [OVXX�[VO VS\ gZVSQVO LSP!\�MPSX�LSVO MVSR WL\R NULWOPMX
f�Qa QaP QfL!WL\R NLQPSQ�VO Va(x) = g2a2/sinh2(ax) D A� #B�-# C�� ?�-D$�#-# A�� E�B&��
/D# F� DD ]PQQPUX VO jZL^L K�M� F (:@>� F bLO� (<� F c� <*<!<*@�

(;� ?#G�- H� HaUPP �SQPTUVWOP kVM�OQLS�VS XRXQPMX [LSSP[QP\ f�Qa �XLXNP[QUVO \PeLUMVQ�LSX D
?#G�- H� DD _\^� `VQa� F (:@>� F bLO� (?� F c� (:@!;;)�

(<� I+.$�- �&% J� YiV[Q UPXZOQX eLU V gZVSQZM MVSR!WL\R NULWOPMX �S LSP \�MPSX�LS +# ++
D I+.$�- �&% J� DD caRX� lP^� F (:@(� F bLO� _=� F c� ;)(:!;);(J (:@;� F bLO� _>� F c�
(<@;!(<@?�

(=� �&#/��G�( K� �� jPf [LMNOPQPOR �SQPTUVWOP MZOQ�NVUQ�[OP \RSVM�[VO XRXQPMX D �&#/���

G�( K� �� DD caRX� d[U�NQV� F (:*=� F bLO� ;:� F c� >(*!>;)�
(>� F /$�&�./,L ?�>� KLMNOPQPOR �SQPTUVWOP kVM�OQLS�VS XRXQPMX [LSSP[QP\ f�Qa XPM�X�MNOP

]�P VOTPWUVX D F /$�&�./,L ?�>�� @�-� #�#( >�?� DD +S^PSQ� `VQa� F (:@?� F bLO� <@� F c�
:<!()*�

(?� F /$�&�./,L ?�>� YiNO�[�Q XLOZQ�LSX Le XLMP [LMNOPQPOR �SQPTUVWOP XRXQPMX D F /$�&�./�
,L ?�>�� @�-� #�#( >�?� DD ]PQQPUX VO jZL^L K�M� F (:@?� F bLO� (@� F c� :@!()(�

(@� F /$�&�./,L ?�>� KOVXX�[VO �SQPTUVWOP mS�QP\�MPSX�LSVO XRXQPMX UPOVQP\ QL ]�P VOTPWUVX D
F /$�&�./,L ?�>�� @�-� #�#( >�?� DD caRX# lPNLUQX� F (:*(� F bLO� @(� F c� <(<!=))�

(*� @�-� #�#( >�?� _OTPWUV�[VO VNNULV[a QL QaP XLOZQ�LS Le LSP\�MPSX�LSVO ML\PO Le N
�SQPUV[Q�ST NVUQ�[OPX D @�-� #�#( >�?� DD HaPLU� `VQa� caRX� F (:@(� F bLO� ?� F c� ;?<!;*<�

(:� ����������	�����
�
	�
��������
�����	����	��
��	��	������������������	����

;)� K+/ >�M�� nS �SQPTUVWOP QaUPP!WL\R NULWOPMX Le QaP O�SP D K+/ >�M�� DD `VQPMVQR[aS�
dQZ\�� F (::*� F bLO� ()� F c� :@!();�

;(� >"-��#N�.G ?� kVS\WLLo Le `VQaPMVQ�[VO pZS[Q�LSX f�Qa pLUMZOVX# qUVNaX# VS\ `VQaP!
MVQ�[VO HVWOPX D >"-��#N�.G ?�� I.�B+& �� F jPf rLUos tL^PU cZWO�[VQ�LSX# (:@;�

�&'()*+,-( ./'(&'�+-0 /1 0233('*�4 .*/,-(30
/1 1/5*'6 +&7 1�1'6 .+�*8�0( �&'(*+4'�&)

.+*'�4-(0 /& -�&(

,9:;<= 7/>6+&�! +=;?#@ >50

�(�& C-�&,# O�.�#&� P&�(�-/�.L #Q RS(�(�
����� RS(�(� P&�(�-/L.�./S,� I.-�� �
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HaP UP\Z[P\ XRXQPMX Le eLZU VS\ m^P NV�Uf�XP �SQPUV[Q�ST NVUQ�[OPX LS QaP
O�SP VUP �S^PXQ�TVQP\� HaP NULNPUQ�PX Le �SQPUV[Q�^P NLQPSQ�VOX VUP [LSX�\PUP\
ZS\PU VXXZMNQ�LS QaVQ QaP T�^PS XRXQPM aVX QaP mUXQ �SQPTUVO NLORSLM�VO Le
NUPX[U�WP\ \PTUPP �S QaP MLMPSQV� HaP eZS[Q�LSVO PgZVQ�LSX eLU QaLXP NLQPSQ�VOX
VUP LWQV�SP\� dLMP XZ[a NLQPSQ�VOX VUP \PX[U�WP\�

T�L N#-%/! aVM�OQLS�VS XRXQPM# mUXQ �SQPTUVO# cL�XXLS WUV[oPQX# V\\�Q�LS
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